LRDAV PUBLIC SCHOOL,GANDARPUR, CUTTACK BOOK LIST FOR LKG (2023-2024)

NAME OF THE STUDENT:

SL NO	BOOKS & NOTE BOOKS	QTY	PRICE/UNIT	Discount	AMOUNT
1	Fun with English	1	65.00		65.00
2	Integrated Activity Book	1	60.00		60.00
3	Fun with Maths	1	75.00		75.00
4	Rhythmic Rhyme Book	1	50.00		50.00
5	Fun with Colours - A	1	36.00		36.00
6	School Diary	1	60.00		60.00
7	Enjoy Drawing & Colouring A &B	2	72.00	14.40	129.60
8	Four ruled 100 P(Eng)	2	21.00		42.00
9	Square ruled 100 P (Maths)	2	21.00		42.00
10	Single ruled 100 p (Rough)	1	21.00		21.00
11	Drawing Copy	1	15.00		15.00
12	Scrap Book	1	28.00		28.00
TOTAL		15			623.60

N.B: Parents are requested to deposit the amount of Rs 623.60 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR UKG (2023-2024)

NAME OF THE STUDENT:

SL NO	NAME OF THE BOOKS	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Book	1	55.00		55.00
2	Integrated Activity Book	1	62.00		62.00
3	K.G.Mathematics	1	70.00		70.00
4	Akshyar Parichaya (Hindi)	1	52.00		52.00
5	Fun with Colour - B	1	36.00		36.00
6	Mera Pratham Akshyar Lekhan	1	284.00	28.40	255.60
7	Mera Pratham Sabda Lekhan	1	258.00	25.80	232.20
8	Ajanta Chhabi Barnamala				
9	Mo Shisu Geeti	1	40.00		40.00
10	Shisu Hastalipi	1	45.00		45.00
11	School Diary	1	60.00		60.00
12	My Word Picture Book-2	1	120.00	12.00	108.00
13	Four ruled 100 P (Eng)	1	21.00		21.00
14	Square ruled 100 P (Maths)	1	21.00		21.00
15	Single ruled 64 p (Rough)	1	16.00		16.00
16	Two ruled 100 p (Hindi)	1	21.00		21.00
17	Three ruled (Odia)	1	21.00		21.00
18	Science 100 P	1	21.00		21.00
19	Scrap Book	1	28.00		28.00
20	Drawing Copy	1	15.00		15.00
TOTAL		19			1179.80

N.B: Parents are requested to deposit the amount of Rs 1179.80 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD I (2023-2024)

NAME OF THE STUDENT:

<u>SLNO</u>	NAME OF THE BOOKS	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Reader	1	80.00		80.00
2	English Practice Book	1	62.00		62.00
3	My Living World	1	65.00		65.00
4	Primary Math	1	85.00		85.00
5	Bhasha Madhuri	1	50.00		50.00
6	Bhasha Abhyas	1	55.00		55.00
7	Step by Step-I	1	50.00		50.00
8	Sulekha -III Hindi	1	45.00		45.00
9	Sum More 1	1	232.00	23.20	208.80
10	Hasa Khela (Part - I &II)				
11	Elementary English Grammar	1	235.00	23.50	211.50
12	School Diary	1	60.00		60.00
13	Hastalipi-2 (odia)	1	45.00		45.00
14	English -Four ruled 100 p	1	21.00		21.00
15	Three ruled 100p (odia)	1	21.00		21.00
16	Two ruled 100 p (Hindi)	1	21.00		21.00
17	Square ruled 100 P (maths)	1	21.00		21.00
18	Science 100p	1	21.00		21.00
19	Drawing copy	1	15.00		15.00
20	Scrap book	1	28.00		28.00
TOTAL		19			1165.30

N.B: Parents are requested to deposit the amount of Rs 1165.30 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD II (2023-2024)

NAME OF THE STUDENT:

HINDI SET

SL NO	NAME OF THE BOOKS	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Reader	1	80.00		80.00
2	English Practice Book	1	50.00		50.00
3	My Living World	1	80.00		80.00
4	Primary Math	1	110.00		110.00
5	Bhasha Madhuri	1	50.00		50.00
6	Bhasha Abhyas	1	60.00		60.00
7	Step by Step II	1	50.00		50.00
8	Sulekha part -IV Hindi	1	45.00		45.00
9	Sum More - II	1	264.00	26.40	237.60
10	Elementary English Grammar	1	265.00	26.50	238.50
11	School Diary	1	60.00		60.00
12	Single ruled 100 p English	3	21.00		63.00
13	Science 100 P	1	21.00		21.00
14	Drawing Copy	1	15.00		15.00
15	Scrap book	1	28.00		28.00
TOTAL		17			1,188.10

N.B: Parents are requested to deposit the amount of Rs 1188.10 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD II (2023-2024)

NAME OF THE STUDENT :

ODIA SET

SL NO	NAME OF THE BOOKS	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Reader	1	80.00		80.00
2	English Practice Book	1	50.00		50.00
3	My Living World	1	80.00		80.00
4	Primary Math	1	110.00		110.00
5	Step by Step II	1	50.00		50.00
6	Hasa Khushi (Odia)				
7	Sum More - II	1	264.00	26.40	237.60
8	Elementary English Grammar	1	265.00	26.50	238.50
9	School Diary	1	60.00		60.00
10	Sishu Hastalipi-III	1	45.00		45.00
11	Single ruled 100 p English	1	21.00		21.00
12	Single ruled 100 p Maths	1	21.00		21.00
13	Science 100 P	1	21.00		21.00
14	Single ruled 100 p Odia	1	21.00		21.00
15	Drawing Copy	1	15.00		15.00
16	Scrap book	1	28.00		28.00
TOTAL		15			1,078.10

N.B: Parents are requested to deposit the amount of Rs 1078.10 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD III (2023-2024)

NAME OF THE STUDENT :

HINDI SET

SL NO	NAME OF THE BOOKS	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Reader	1	80.00		80.00
2	English Practice Book	1	62.00		62.00
3	We and Our World-I	1	72.00		72.00
4	My Living World	1	65.00		65.00
5	Primary Math	1	103.00		103.00
6	Bhasha Madhuri	1	60.00		60.00
7	Bhasha Abhyas	1	38.00		38.00
8	Wiz Kid (G.K)-I	1	55.00		55.00
9	Step by Step -III	1	50.00		50.00
10	Computer Book (Hands on)	1	70.00		70.00
11	The Mirror of Values-3	1	235.00	23.50	211.50
12	Sum More-III	1	288.00	28.80	259.20
13	Elementary English Grammar	1	295.00	29.50	265.50
14	Sulekha part-V(Hindi)	1	42.00		42.00
15	School Diary	1	60.00		60.00
16	Single ruled100 p(Eng-2, Hindi-2, Maths-4, Sst-	15	21.00		315.00
17	Science 100 p	4	21.00		84.00
18	Single ruled 64 p (Math-2,Hindi-1,SST-1,Music	5	16.00	_	80.00
19	Drawing Copy	1	15.00		15.00
20	Scrap book	3	28.00		84.00
TOTAL		43		_	2,071.20

N.B: Parents are requested to deposit the amount of Rs 2071.20 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD III (2023-2024)

NAME OF THE STUDENT : ODIA SET

SL NO	NAME OF THE BOOKS	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Reader	1	80.00		80.00
2	English Practice Book	1	62.00		62.00
3	We and Our World-I	1	72.00		72.00
4	My Living World	1	65.00		65.00
5	Primary Math	1	103.00		103.00
6	Wiz Kid (G.K)-I	1	55.00		55.00
7	Step by Step -III	1	50.00		50.00
8	Computer Book (Hands on)	1	70.00		70.00
9	Ama bhasa ama sahitya (Odia)				
10	The Mirror of Values-3	1	235.00	23.50	211.50
11	Sum More-III	1	288.00	28.80	259.20
12	Elementary English Grammar	1	295.00	29.50	265.50
13	Hastalipi-IV	1	45.00		45.00
14	School Diary	1	60.00		60.00
15	Single ruled100 p(Eng-2, Odia-2, Maths-	15	21.00		315.00
16	Science 100 p	4	21.00		84.00
17	Singl ruled 64 p (Math-2,Hindi-1,SST-1,	5	16.00		80.00
18	Drawing Copy	1	15.00		15.00
19	Scrap book	3	28.00		84.00
TOTAL		41			1,976.20

N.B: Parents are requested to deposit the amount of Rs 1976.20 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD IV (2023-2024)

NAME OF THE STUDENT:

HINDI SET

SL NO	NAME OF THE BOOKS	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Reader	1	70.00		70.00
2	English Practice Book	1	90.00		90.00
3	We and Our World-II	1	85.00		85.00
4	My Living World	1	65.00		65.00
5	Primary Math	1	103.00		103.00
6	Bhasha Madhuri	1	70.00		70.00
7	Bhasha Abhyas	1	50.00		50.00
8	Kid Wiz (G.K)	1	62.00		62.00
9	Computer Book (Hands on)	1	95.00		95.00
10	Step by Step -IV	1	50.00		50.00
11	The Mirror of Values-4	1	240.00	24.00	216.00
12	Sum More-4	1	304.00	30.40	273.60
13	Elementary English Grammar	1	315.00	31.50	283.50
14	Aao Hindi Likhen	1	85.00		85.00
15	School Diary	1	60.00		60.00
16	Single ruled 100 p (Eng, Hindi, Maths,	15	21.00		315.00
17	Single ruled 64 p (Comp, G.K, M.Sci,)	7	16.00		112.00
18	Science 100 p	4	21.00		84.00
19	Drawing Copy	1	15.00		15.00
20	Scrap book	1	28.00		28.00
TOTAL		43			2212.10

N.B: Parents are requested to deposit the amount of Rs 2212.10 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD IV(2023-2024)

NAME OF THE STUDENT:

ODIA SET

SL NO	NAME OF THE BOOKS	QTY	PRICE/UNIT	Discount	
1	My English Reader	1	70.00		70.00
2	English Practice Book	1	90.00		90.00
3	We and Our World-II	1	85.00		85.00
4	My Living World	1	65.00		65.00
5	Primary Math	1	103.00		103.00
6	Kid Wiz (G.K)	1	62.00		62.00
7	Computer Book (Hands on)	1	95.00		95.00
8	Step by Step -IV	1	50.00		50.00
9	Sahitya Kalika (Odia)				
10	The Mirror of Values-4	1	240.00	24.00	216.00
11	Sum More-4	1	304.00	30.40	273.60
12	Elementary English Grammar	1	315.00	31.50	283.50
13	Hastalipi-V	1	55.00		55.00
14	School Diary	1	60.00		60.00
15	Single ruled 100 p (Eng , Odia, Maths,	15	21.00		315.00
16	Single ruled 64 p (Comp, G.K, M.Sci,)	7	16.00		112.00
17	Science 100 p	4	21.00		84.00
18	Drawing Copy	1	15.00		15.00
19	Scrap book	1	28.00		28.00
TOTAL		41			2,062.10

N.B: Parents are requested to deposit the amount of Rs 2062.10 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD V (2023-2024)

NAME OF THE STUDENT : HINDI SET

SL NO	NAME OF THE BOOKS	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Reader	1	95.00		95.00
2	English Practice Book	1	90.00		90.00
3	We and Our World-III	1	90.00		90.00
4	My Living World	1	95.00		95.00
5	Primary Math	1	145.00		145.00
6	Bhasha Madhuri	1	80.00		80.00
7	Bhasha Abhyas	1	62.00		62.00
8	Kid wiz (G.K) - III	1	55.00		55.00
9	Computer Book (Hands on)	1	110.00		110.00
10	Step by Step V	1	50.00		50.00
11	Odia Book (Hasa Khusi of class -II) Lower odia				
12	The Mirror of Values-5	1	250.00	25.00	225.00
13	SumMore-5	1	340.00	34.00	306.00
14	Elementary English Grammar	1	315.00	31.50	283.50
15	Vyakarana Vyabahara (Hindi)	1	297.00	29.70	267.30
16	Suravi (Sanskrit)				
17	School Diary	1	60.00		60.00
18	Single ruled 100 p (Eng, Hindi)	15	21.00		315.00
19	Plain soft 100 P (Maths)	4	21.00		84.00
20	Science 100 p	4	21.00		84.00
21	Single ruled 64 p (Test Copies)	5	16.00		80.00
22	Drawing Copy	1	15.00		15.00
23	Scrap Book	2	28.00		56.00
TOTAL		46			2,647.80

N.B: Parents are requested to deposit the amount of Rs 2647.80 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD V (2023-2024)

NAME OF THE STUDENT: ODIA SET

SL NO	NAME OF THE BOOKS	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Reader	1	95.00		95.00
2	English Practice Book	1	90.00		90.00
3	We and Our World-III	1	90.00		90.00
4	My Living World	1	95.00		95.00
5	Primary Math	1	145.00		145.00
6	Bhasa Mdhuri of std-ll(Lower Hindi)	1	50.00		50.00
7	Bhasa Abhyas of std II(Lower Hindi)	1	60.00		60.00
8	Kid wiz (G.K) - III	1	55.00		55.00
9	Computer Book (Hands on)	1	110.00		110.00
10	Step by Step V	1	50.00		50.00
11	Sahitya Kusuma (Odia)				
12	The Mirror of Values-5	1	250.00	25.00	225.00
13	SumMore-5	1	340.00	34.00	306.00
14	Elementary English Grammar	1	315.00	31.50	283.50
15	Suravi (Sanskrit)				
16	School Diary	1	60.00		60.00
17	Single ruled 100 p (Eng, Odia)	15	21.00		315.00
18	Plain 100 P (Maths)	4	21.00		84.00
19	Science 100 p	4	21.00		84.00
20	Single ruled 64 p (Test Copies)	5	16.00		80.00
21	Drawing Copy	1	15.00		15.00
22	Scrap Book	2	28.00		56.00
TOTAL		45			2,348.50

N.B: Parents are requested to deposit the amount of Rs 2348.50 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD VI (2023-2024)

NAME OF THE STUDENT:

HINDI SET

SI.No	Name of the Books	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Reader -VI	1	120.00		120.00
2	English Practice Book-VI	1	98.00		98.00
3	English Literature	1	62.00		62.00
4	We and Our World	1	142.00		142.00
5	My Living World	1	155.00		155.00
6	Secondary Maths	1	160.00		160.00
7	Gyan Sagar	1	70.00		70.00
8	Abhyas Sagar	1	72.00		72.00
9	Kid Wiz(G.K) - IV	1	70.00		70.00
10	Hands On (computer)	1	103.00		103.00
11	Step by Step- VI				
12	Sahitya Kalika of Class-IV (Lower Odia)				
13	The Mirror of Values-6	1	250.00	25.00	225.00
14	Exemplar Science				
15	Examplar Math				
16	Dialogue ASL -6	1	358.00	35.80	322.20
17	Suravi (Sanskrit)				
18	School Diary	1	60.00		60.00
19	Single ruled 100 p (Eng, Hindi, Sans)	20	21.00		420.00
20	Plain 192 P long (Maths)	2	52.00		104.00
21	Science 100 p	4	21.00		84.00
22	SUPW Record (Sst, Comp)	2	21.00		42.00
23	Math Laboratory Record 64 Pages	1	35.00		35.00
24	Graph Note Book	1	20.00		20.00
25	Single ruled long 100 pages	2	30.00		60.00
TOTAL		45			2424.20

N.B: Parents are requested to deposit the amount of Rs 2424.20 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD VI (2023-2024)

NAME OF THE STUDENT:

ODIA SET

Sl.No	Name of the Books	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Reader -VI	1	120.00		120.00
2	English Practice Book-VI	1	98.00		98.00
3	English Literature	1	62.00		62.00
4	We and Our World	1	142.00		142.00
5	My Living World	1	155.00		155.00
6	Secondary Maths	1	160.00		160.00
7	Bhasa Madhuri of std III(Lower Hindi)	1	60.00		60.00
8	Bhasa Abhyas of std III(Lower Hindi)	1	38.00		38.00
9	Kid Wiz(G.K) - IV	1	70.00		70.00
10	Hands On (computer)	1	103.00		103.00
11	Step by Step- VI				
12	Ama Sahitya-VI (Odia)				
13	The Mirror of Values-6	1	250.00	25.00	225.00
14	Examplar Math				
15	Exemplar Science				
16	Dialogue ASL -6	1	358.00	35.80	322.20
17	Suravi (Sanskrit)				
18	School Diary	1	60.00		60.00
19	Single ruled 100 p (Eng, Hindi, Sans)	20	21.00		420.00
20	Plain 192 P long (Maths)	2	52.00		104.00
21	Science 100 p	4	21.00		84.00
22	SUPW Record (Sst, Comp)	2	21.00		42.00
23	Math Laboratory Record 64 Pages	1	35.00		35.00
24	Graph Note Book	1	20.00		20.00
25	Single ruled long 100 pages	2	30.00		60.00
TOTAL		45			2380.20

N.B: Parents are requested to deposit the amount of Rs 2380.20 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD VII (2023-2024)

NAME OF THE STUDENT:

HINDI SET

Sl.No	Name of the Books	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Reader	1	120.00		120.00
2	English Practice Book	1	100.00		100.00
3	English Literature	1	70.00		70.00
4	We and Our World	1	135.00		135.00
5	My Living World	1	175.00		175.00
6	Secondary Maths	1	165.00		165.00
7	Gyan Sagar	1	90.00		90.00
8	Abhyas Sagar	1	75.00		75.00
9	Surabhi(Sanskrit)				
10	Kid WIZ(G.K)	1	75.00		75.00
11	Hands on (Computer)	1	103.00		103.00
12	Step by Step - VII				
13	The Mirror of Values	1	250.00	25.00	225.00
14	Ama Sahitya -VI (Lower Odia)				
15	Examplar Math-7				
16	Exemplar Science-7				
17	Dialogue Asl -7	1	358.00	35.80	322.20
18	School Diary	1	60.00		60.00
19	Long Exercise copy ruled 100 P	2	30.00		60.00
20	Long Exercise copy Plain 192 P	2	52.00		104.00
21	Math lab record (64 Pages)	1	35.00		35.00
22	Science100 P	4	21.00		84.00
23	Single ruled100 P(Hindi-2, Odia-2, Sans-2, Eng)	20	21.00		420.00
25	SUPW Record (Sst, Comp, Sci-1)	2	21.00		42.00
26	Art Project File (16 Sheets)				_
27	Graph	1	20.00		20.00
TOTAL		45			2,480.20

N.B: Parents are requested to deposit the amount of Rs 2480.20 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD VII (2023-2024)

NAME OF THE STUDENT:

ODIA SET

SI.No	Name of the Books	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Reader	1	120.00		120.00
2	English Practice Book	1	100.00		100.00
3	English Literature	1	70.00		70.00
4	We and Our World	1	135.00		135.00
5	My Living World	1	175.00		175.00
6	Secondary Maths	1	165.00		165.00
7	Bhasa Madhuri-IV (L. Hindi)	1	70.00		70.00
8	Bhasa Abhyas- IV (L. Hindi)		50.00		50.00
9	Surabhi(Sanskrit)				
10	Kid WIZ(G.K)	1	75.00		75.00
11	Hands on (Computer)	1	103.00		103.00
12	Step by Step - VII				
13	The Mirror of Values	1	250.00	25.00	225.00
14	Sahitya Sourava (Odia Book)				
15	Examplar Math-7				
16	Exemplar Science-7				
17	Dialogue Asl -7	1	358.00	35.80	322.20
18	School Diary	1	60.00		60.00
19	Long Exercise copy ruled 100 P	2	30.00		60.00
20	Long Exercise copy Plain 192 P	2	52.00		104.00
21	Math lab record (64 Pages)	1	35.00		35.00
22	Science100 P	4	21.00		84.00
23	Eng)	20	21.00		420.00
25	SUPW Record (Sst, Comp, Sci-1)	2	21.00		42.00
26	Art Project File (16 Sheets)				
27	Graph	1	20.00		20.00
TOTAL		44			2,435.20

N.B: Parents are requested to deposit the amount of Rs 2435.20 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR VIII (2023-2024)

NAME OF THE STUDENT:

Sl.No	Name of the Books	QTY	PRICE/UNIT	Discount	AMOUNT
1	My English Reader	1	108.00		108.00
2	English Practice Book	1	110.00		110.00
3	English Literature	1	70.00		70.00
4	We and Our World	1	175.00		175.00
5	My Living World	1	240.00		240.00
6	Secondary Maths	1	185.00		185.00
7	Gyan Sagar	1	82.00		82.00
8	Abhyas Sagar	1	98.00		98.00
9	Surabhi(Sanskrit)				
10	Kid WIZ(G.K)	1	118.00		118.00
11	Hands on (Computer)	1	122.00		122.00
12	Step by Step - VIII				
13	All About Vedic Dharam	1	24.00		24.00
14	Sahitya-VIII (Sahityika,Odia)				
15	Odia Vyakarana -VIII				
16	Examplar Math				
17	Exemplar Science				
18	Dialogue Asl -8	1	371.00	37.10	333.90
19	School Diary	1	60.00		60.00
20	Long Exercise copy ruled 100 P	12	30.00		360.00
21	Long Exercise copy Plain 192 P	2	52.00		104.00
22	Math lab record (64 Pages)	1	35.00		35.00
23	Science100 P	6	21.00		126.00
	Single ruled100 P(Hindi-2, Odia-2, Sans-2,				
24	Eng)	10	21.00		210.00
26	SUPW Record (Sst, Comp, Sci-1)	2	21.00		42.00
27	Art Project File (16 Sheets)	-	_		
28	Graph	1	20.00		20.00
TOTAL		47			2622.90

N.B: Parents are requested to deposit the amount of Rs 2622.90 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR IX (2023-2024)

NAME OF THE STUDENT:

Sl.No	Name of the Books	Publisher	PRICE/UNIT	Discount	AMOUNT
1	Beehive:Text Book in English	NCERT			
2	Moments :Supplementary reader in English	NCERT			
3	Words And Expression-1(work book)	NCERT			
4	Mathematics	NCERT			
5	Science	NCERT			
6	India and the Contemporary World-I (History)	NCERT			
7	Contemporary India-1 (Geopgraphy)	NCERT			
8	Democratic Politics-I(Civics)	NCERT			
9	Economics-I	NCERT			
10	Sparsh-I (Hindi)	NCERT			
11	Sanchayan-I(Hindi)	NCERT			
12	Suravika (Hindi)		Eupheus Learning		
13	Sahitya Dhara (Odia)		Odisha Text Book		
14	Madhyamika Vyakarana(Odia)		Odisha Text Book		
15	Manika-1(Sanskrit)	NCERT			
16	Abhyas ban-1	NCERT			
17	Social Science Atlas -x	S.Chand			
18	Information Technology(402)		NCERT/GOYAL		
19	Examplar Math	NCERT			
20	Examplar Science	NCERT			
21	Vyakarana Bidhi	NCERT			
22	Long ruled 100 P assignment copy	22	30.00		660.00
23	Long Exercise copy (plain 192 Pages) (Maths)	2	52.00		104.00
24	Phy, Chem, Bio, Comp.Sc Record (132) Pages	4	52.00		208.00
25	Graph Note Book (Maths) 52 Pages	1	20.00		20.00
26	Maths Lab Record 64 Page	1	35.00		35.00
27	Art Project File (16 Sheets)				
28	Science copy-(64pages)SUPW	3	21.00		63.00
29	School Diary	1	60.00		60.00
TOTAL		34			1150.00

N.B: Parents are requested to deposit the amount of Rs 1150.00 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR STD X (2023-2024)

NAME OF THE STUDENT:

Sl.No	Name of the Books	ublishe	PRICE/UNIT	Discount	AMOUNT
1	First Flight -Text Book in English	NCERT			
2	Footprints without Feet (supplementary Read	NCERT			
3	Words And Expression -II	NCERT			
4	Mathematics	NCERT			
5	Science	NCERT			
6	India and the Contemporary World-II(History)	NCERT			
7	Contemporay India-2 (Geography)	NCERT			
8	Democratic Politics-II(Civics)	NCERT			
9	Economics-II	NCERT			
10	Sparsh-II(Hindi)	NCERT			
11	Sanchayan-II(Hindi)	NCERT			
12	Suravika (Hindi)		Eupheus Learning		
13	Sahitya Sindhu-x(Odia)		Odisha Text Book		
14	Madhyamika Vyakaran-(Odia)		Odisha Text Book		
15	Manika-II (sanskrit)	NCERT			
16	Abhyasban -1	NCERT			
17	Social Science Atlas-X	S.Chand			
18	Information Technology(402)		NCERT/GOYAL		
19	Examplar of Math	NCERT			
20	Examplar Science	NCERT			
21	Vyakarana Bidhi	NCERT			
22	Long Exercise copy-100 p (Eng, Sst, H/O/S, Ph	22	30.00		660.00
23	Long Exercise copy (plain 192 Pages) (Maths)	2	52.00		104.00
24	Phy, Chem, Bio, Comp.Sc Record (132) Pages	4	52.00		208.00
25	Graph Note Book (Maths) 52 Pages	1	20.00		20.00
26	Maths Lab Record 64 Page	1	35.00		35.00
27	Art Project File (16 Sheets)				
28	Science copy-(64pages)SUPW	3	21.00		63.00
29	School Diary	1	60.00		60.00
TOTAL		34			1150.00

N.B: Parents are requested to deposit the amount of Rs 1150.00 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR XI (2023-2024)

NAME OF THE STUDENT:

Sl.No	Name of the Books	QTY	PRICE/UNIT	Discount	AMOUNT
1	Physics - I	NCERT			
2	Physics - II	NCERT			
3	Chemistry-I	NCERT			
4	Chemistry-II	NCERT			
5	Mathematics	NCERT			
7	Biology	NCERT			
8	Hornbill (English)	NCERT			
9	Snap shot (English)	NCERT			
10	Computer Science(PYTHON- SUMITARORA	١)	Dhanpat Rai		
11	All in one(English)	Arihant			
12	Examplar MATH /PHYSICS /CHEMISTRY / B	NCERT			
13	Health And Physical Education	Rohan			
14	Candid Physical Education practical Manua	Evergreen			
15	SUPW Record (64 Pages)	1	21.00		21.00
16	Long Ex.copy ruled (100 Pages)	6	30.00		180.00
17	Chem, Bio/Comp/Ph.ed (2 Each)	6	52.00		312.00
18	Long Ex. Copy plain (192 Pages) Maths	2	52.00		104.00
19	Graph Note Book (52 Pages) Maths	1	20.00		20.00
20	Phy, Chem, Comp, Bio Rec (132 Pages) Sci,	3	52.00		156.00
21	Math lab record (132 Pages)	1	52.00		52.00
23	The Concept Of Physics -1	1	560.00	56.00	504.00
24	School Diary	1	60.00		60.00
TOTAL		22			1409.00

N.B: Parents are requested to deposit the amount of Rs 1409.00 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.

LRDAV PUBLIC SCHOOL, GANDARPUR, CUTTACK BOOK LIST FOR XII (2023-2024)

NAME OF THE STUDENT:

SI.No	Name of the Books	Publisher	PRICE/UNIT	Discount	AMOUNT
1	Physics - I	NCERT			
2	Physics - II	NCERT			
3	Chemistry-I	NCERT			
4	Chemistry-II	NCERT			
5	Mathematics-I	NCERT			
6	Mathematics -ii	NCERT			
7	Biology	NCERT			
8	Flamingo(English)	NCERT			
9	Vistas (English)	NCERT			
10	Computer Science (PYTHON - Sumit Arora	1)	Dhanpat Rai		
11	All in one (English)	Arihant			
12	Examplar MATH /PHYSICS /CHEMISTRY / E	NCERT			
13	Health And Physical Education	Rohan			
14	Candid Physical Education practical Manua	al	Evergreen		
15	SUPW Record (64 Pages)	1	21.00		21.00
16	Long Ex.copy ruled (100 Pages)	6	30.00		180.00
17	Phy, Chem, Bio/Comp/Ph.ed	6	52.00		312.00
18	Long Ex. Copy plain (192 Pages) Maths	2	52.00		104.00
19	Graph Note Book (52 Pages) Maths	1	20.00		20.00
20	Phy, Chem, Comp, Bio Rec (132 Pages)	3	52.00		156.00
21	Math lab record 132 page	1	52.00		52.00
22	School Diary	1	60.00		60.00
TOTAL		21			905.00

N.B: Parents are requested to deposit the amount of Rs 905.00 through online payment system and then produce the receipt of the payment to the respective book counter to collect the books and note books.